Name: Class: Date:

Exit Ticket: Standard Form
Find the x- and y-intercept of the line.
1 dx+y=12

@ x-intercept is 12; y-intercept is —3
® x-intercept is —3; y-intercept is 12

x-intercept is —4; y-intercept is 1
x-intercept is 1; y-intercept is —4

©0

2 3x+2y=36

@® x-intercept is 3; y-intercept is 2 © x-intercept is 18; y-intercept is 12
x-intercept is 12; y-intercept is 18 ® x-intercept is 2; y-intercept is 3
Graph the equation.
3 4x-2y=8
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What is the graph of the equation?

4 y=—4
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Exit Ticket: Standard Form
Answer Section
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